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QUESTION 1

Which two options are components of a device package? (Choose two.)
A. device configuration

B. device specification

C. device prototype

D. device script

E. device mapping

Correct Answer: BD

QUESTION 2

Which ACI construct provides the policy-based definition that comprises the communication, performance, and security
needs of an application?

A. service profile

B. endpoint group

C. application service profile
D. application network profile

Correct Answer: D

QUESTION 3

Which two types of data formats are supported by the RESTful APIs? (Choose two.)
A. XML

B. JSON

C. SNMP

D. HTTP

E. CSV

Correct Answer: AB

QUESTION 4
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Which two benefits of ACI help improve the time required to deploy an application? (Choose two.)
A. enabling software developers to create development environments similar to production

B. eliminating the need for expensive Layer 4 to Layer 7 service appliances

C. eliminating IP addressing from software stacks

D. evolving the IT model from manual workflows to an application model that automates deployment, operations, and
visibility

Correct Answer: AD

QUESTION 5

OpenStack integration with the Cisco APIC is provided through a plug-in to which OpenStack Project?
A. Nova

B. Swift

C. Cinder

D. Neutron

E. Glance

Correct Answer: D

600-511 VCE Dumps 600-511 Practice Test 600-511 Braindumps

600-511 VCE Dumps | 600-511 Practice Test | 600-511 Braindumps 3/3


https://www.pass2lead.com/600-511.html
https://www.pass2lead.com/600-511.html
https://www.pass2lead.com/600-511.html
http://www.tcpdf.org
https://www.pass2lead.com/600-511.html
https://www.pass2lead.com/600-511.html
https://www.pass2lead.com/600-511.html

